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Note/de: (1)

(49

(2]

(3}

This paper consists of Objective Type Questions and is divided info Twe
Sections I and I1} as under :

ag WH-T agEEed T W snaiE ® ww @ @l (1 @ ) & frer 2, 9w f&
= aftfa ?
(a) Section—I consists of 104 Objective Type Questions.

{(F) wve—I 4 104 sghelty v &

(b) Section—II consists of 16 Objective Type Questions on (i} English
Language and (i1} Hindi Language.

(@) wvs—II § 16 sgfasweda ¥ (i) amsf wm ok (i) e v & gm0 =
smafa 21

A candidate is required to attempt as many questions as he/she can of

Section—I, and questions of ANY ONE of the TWO Language papers

(i) English or {1} Hindi in Section——IIL

serfl A wifiw 2 T mve—I W WeE—I & (1) st w (i) fed v 99 &

Hfogtys yAT @ B B

Each question carries 3 marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted question.

uﬁmmSﬁm%lﬁ?ﬁﬂﬁﬂﬂ%ﬁrl{mﬁmm | Yela apaing
W H UHIE I g

If more than one alternative answers seem to be approximate to the correct
answer, choose the closest ane,

uﬁw@mmmaﬁm%ﬁmmﬁ,ﬁmaﬁaﬁél

Each question is followed by Four alternative answers (1), (2), {3} and (4). Only
one of these answers is correct. Select the correct answer and record it aga.z'ns't
the relevant question number by darkening the circle with Ball Point Pen on
the Answer Sheet, as per the guidelines. '

TF T ¥ AN dFE wogam m d BR (1), 2
mw%wﬁﬁ#{aﬁﬁmﬂﬁ%luﬁ}%ﬁ{t;{%%]aﬁgg;

40 W IW-99 W WSS 9 4 % e Fuman %
wiEe 1 70 e w0k zoie = a7 (hed) % i

e e —

1
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1.

(49

Section—I
HUs—I
The branch of Philosophy that is concerned with reasoning is called
{1} Metaphysics (2} Logic (3) Epistemology (4] Axiology
WA & - Fe w owey e 3@ 20
(1) deatara (2) e (3) FAHMTE [4) TeadmETE

Project method owes its allegiance to

(1) idealism (2} pragmatism (3] realism (4) naturalism
g Tata w1 qifie smam w27

(1) 3T (2) TAISHATE (3) FgedanE (4) VeHfdaR
Who gave the slogan ‘Back to nature’?

(1} Rousseau (2} Herbert Spencer

(3) Huxley {4\ Bernard Shaw

‘Tl F AR A RS AW 917

(1) ®at (2y & wm (3) FAwe (4) ®AtE =

Educational thoughts of which one of the following has an amalgamation of
Naturalism, Idealism and Pragmatism?

{1) Vivekananda (2) Tagore (3) Aurobinde (4) Rousseau

gﬁaﬁ,ﬂﬁﬂmﬁmmﬂﬁaﬁ%%mmﬁaﬁwﬁqﬁﬁm
framd # firaa 27
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Which one of the following was not a supporter of Pragmatism?

(1) William James (2) John Dewey

(3) William Kilpatrick (4) Johann Pestalozzi

= & 7 9 wisHar = anfs w27

(1) faferas s (2) =7 &

(3) Rfeem feetRe (4) ST Feeraff

Logical positivisrn denies metaphysics because

(1} later cannot be verified (2) later is related to values
i3) later determines values (4] All of the above

Al FoHeare S iaEr %) T 2 e
(1) 38 @eamfiT 4@ fFr S gl (2) a8 oot W bR 2

(3) @& qoul w Fwife #war 2 (4) I g

The nature of truth is basically a problem for

(1) Law [2) Ethics (3] Epistemology (4) Axiology
e it vF Y gem e @

(1) # % g 2 HMwm % R

(3! T & fom (4) easfiaTEl & farg

“Arise, awake and stop not

tll your goal is achieved” was a call giveq by

{l} Tagore (2] Vivekanandg (3} Gandhi
' 3

(4] Aurobing,

P.T.Oy
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10.

11.

“adt, smit ot omy wew W Wi @ e WA W 4w Igui fEer a@1?
{1) o (2) Rlw= () T} (4) wwfa
According to Shri Aurcbindo ‘Conscience’ has

{1} four levels (2) three levels  (3) five levels [4) two levels
i sufrg ¥ oTER AEE &

(1) o7 & # {2) # =W 2 (3) uf=r =% 3 (4) 3 T @

Which one of the following does not belong to the four noble truths identified by
Buddha?

(1) Life is suffering

(7} Nesire is the cause of all suftering

(3) Salvation is necessary

(4) Suffering can be overcome

fr § 4 #r-a qg % o oA § A A ¥

(1) waw ¥ 3@ 2 () e & 2@ W O

(2) e AtEE 2 (4} gd & famwr ¢

Which Philosophy says “Do not care 10 know various theories about God and

aenl: do gond and be good; that will take you to whatever truth there is”?

(1) Sankhya (2} Buddhism [3) Vedanta {4) Jainism

£ mm%ﬁ,“mqﬁm%aﬁﬁﬁa%@ﬁ*ﬁ“mﬁﬁm?
ggﬁﬁamaﬁ?aﬁ;a%maﬁzﬁwﬁﬂ‘ﬂaﬁﬂﬁﬂ%wzﬁaﬁ?m

1) T (2) g (3) (4) Srend
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12. Which Philosophy developed the monitorial system in classrooms?

(1) Vedic (2) Vedanta (3) Islam (4} Buddhism

e a7 3 wemedt @ affie vgfy slm 7

(1) e (2) ST (3) wm (4) sge
13. Which book on Education was written by Plato?

{1) The Repubdlic (2} Educational Philosophy

(3) Education of Plato (4) Emile

wiel 3 e ® wR-d o fadt o0

(1) g fufestrs (2) TgFTS frerraih)

(3] TR o el {4) wie

14. According to Dewey's theory in his book How We Think
(1) the experimental method is used exclusively
{2) the logical method of ingquiry 1s used exclusively

(3} the ideas praoduced by any method must be tested in experience
(4] None of the above

@?ﬁ?qﬁaﬂaﬁwﬁ%ﬁaﬁaﬁé‘#%@aim
u;wmmmmﬁmi
{E'Iﬁﬁa@aﬁa%wﬁfﬁqu@ma

:Sl%ﬁﬁ%mmﬁﬁﬂmmﬁaﬁm@mgnﬁm
i U fem ey

(4) IE ¥ & Fr8 =
(49) 5
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15. Integral Education is a concept given by
(1) Aurobindo {2) J. Krishnamurthy
(3] Maulana Abul Kalam Azad (4) Annie Besant
gz foen & e o Rrme WmER 27
(1) nfa= (2) o FoTHR
(3) WIS SR F™ (@) % A
16. The Jain Epistemology considers a five stage hierarchy ol knowledge, Which onc
of the following is the proper order of different levels of knowledge?
(1] Mati, Shruti, Manahparyava, Avadhi, Kaivalya
(2) Shruti, Mati, Avadhi, Manahparyava, Kaivalya
(3) Mali, Shruti, Avadhi, Manahparyava, Kaivalya
(4} Kaivalya, Avadhi, Manahparvava, Shruti, Mati
& s & @A B ot sEenst ¥ wsw w few few o #, R % e
il &) fefaran 4 8 AA-81 39gE BH 7
() wf, gy, mwta, oty Fae (@) ofe, o, o, R, S
o) W, A, s, Wy, o (4) ¥, IEh, mgala, gfd, af

17. Ivan lllich is renowned for

(1) Life Long Learning (2) Life Skill Education

(3) Deschooling Society (4) Distance Education

{49
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WA i Tk fomg e €7
(1) 3m=as ariepm (2} sfaw Hiwe e
(3) Te-wpfom aremsdt (4) el fve

The four-fold valuation of Indian culture (Chatus Purushartha), when arr:a.nged
in an ascending hierarchy in terms of the height of values, will constitute which
of the following correct orders?

(} Dharma, Artha, Kama, Moksha
2) Artha, Kama, Dharma, Moksha
{3) Artha, Dharma, Kama, Moksha
{(4) Moksha, Dharma, Kama, Artha

Wéﬁﬁl?ﬁaﬁﬁﬁﬁaw[ﬁwﬁ)aﬁuﬁzﬁﬁw%mm
HE T § orafeyd R R, @ B d ¥ deom ww wd e

(1) ud, a1, Fp, o (2) 1, @wm, o, wig

(3) =d, wf, ®|w, @y (4) W, of, Fm o

In which form has Giju Bhai stressed to develop infant schoolg?

(1) House (2} Garden

(3] Temple (4) Beautiful forest

ﬁ@uﬁﬁ@%aﬁi%ﬁmﬁaﬁﬁamﬁmﬁmmvmﬁm%?

(1) = (2) sfrn (3) ) T
7

(PT.0)
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20. Which one of the following influenced Gandhiii the most?
(1] Vedas (2] Upanishads (3} Geeta |4} Ramayana
mifisht w e 4 A feue en wfis e @ R0
(1) % (2) Jatig (3) i (4) TEmE

21. [Irrational fear of foreign culture is called
(1} xenophobia (2} cultural relativism
(3) ethnocentrism {4) cultural shock

il deafa & ula sfdes w1 =+ e i

(1) sHrgfem (2) WrERfas AR
() TEETEHST (4) WTEFiaH AMEE

22. Which one of the following statements is not truc about COMMIMUT L [100]
process?
(1) Communicator must have mastery of subject.

(2) Communicator is not suppose to know socio-cultural background of
audience.

13) Human communication is dominated by symbols.

(4) Listening skills are as important as speaking skills.
Wm’ﬁw%uﬁﬁﬁﬁﬂﬁﬁmﬂmmmﬁ%?
[L]ﬂméﬂﬁamm%ﬂmh ‘ |
) eyl ® A £ arfes SR TR H s T s T
(3}n1q-q*mm§lﬁﬂlfrsrrﬁﬂﬁﬁﬂ§ﬁﬂﬁﬁ%l |
|41§qﬁmﬁmaﬁaﬁé}smamﬁrmwf%

8
149)
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Which one of the following statements is not true?

(1} Schools play active role in the construction of gender identity,

(2) School has nothing to do with the construction of gender identity.

3) Gender identities are shaped through texthooks.

4 Hidden curriculum plays significant role in the construction of gender
identity.

= & & #-w 97 o 27

(1) et vgam & Pl § et afen e o 4

{2}ﬁmwﬁwﬁ$ﬁﬁﬂﬁiﬁﬂ¥"ﬁ%l

(3) TGS S T & Pl F ki w@

(@) BT T IR R AR agan % Pt § age At g 2

As per Supreme Court Judgment of 2013, which one of the following schools are

now exempt from the provisions of RTE Act, 2009 ?

(1) Aided Minority Schools {2) Special Category Schools

(3} Un-aided Minority Schools (4) All Private Schouls

Hﬁamaqéﬁmzmaéaﬁvh%m,ﬁnﬁﬁw-ﬁqaﬁTmﬂ

SF FLT 2009 F IAUAT & wRr §7

(1) HETaw W Serer % fi mm

(2) sty aoft ¥ g

(3) -wErET W swREE ¥ R i

() ot fsft =

Which one of the following statements is trye about sex-gender difference?

(1) Gender is biological whereas sex is socio-culturai concept,
(2) Gender is socio-cultural whereas sex ig biological concept

[3) Sex and gender ' Tatin al concept.
) Sex ahawmﬂw%%""

9

(P.T.0}
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26.

27,

(49)

-3 v % wvey § fa § A SH-m s T R0
(1) et Fa-Trlifs 2 T daw gmhem-greiie e ¢
(2) S wrfsh-giptos ¢ od 99 Sig-wRiE ey @
(3) dFq I Fer g wmfR-wiEns T 2

(4} Ay fl dgt &l Sa-millis T 2

“1f a girl gets education, her whole family becomes echiucated.” This assumption
exemplifies which one of the following approaches to women cducation?

(1} Instrumentahist approach (2) Radical approach

(3) Critical approach (4) Social approach

“uu R e fwen W e B, @ e o vien fiidm g 17 9@ sEumen
#t fien & fobw qurm @1 agEm 27

(1] ITREE I (2) Hewa ™

(3) TRl 39Pm (4) Tt qem

British started English Education in India with a purposc 1o crea te a group of

Indians who would be loyal to British admimistration. But indians used the
insights (liberal human) gained form this education for their freedom struggle

against British. It is an example of

(1] dysfunction (2] manifest function

(3) latent function (4) structural function
ﬁﬂﬁiﬁmﬁﬁﬁﬁﬁﬁmﬁwﬁ%*ﬁ@ﬁﬁﬂmﬁamf@ﬁ
W%W%@ﬁﬁxwmﬁmﬁmamm,mw
mqﬁme@aﬁ%ﬁlﬁaﬁmﬁﬁmﬁaﬁﬁ%mﬁwwwﬁ

(1) #-3FH (2) T T

LR
(3) fom &an BCao)
10
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In the Indian context, which one of the following factors was an orthogenetic
factor of social change?

(1) Impact of Islam
(2) English Education
(3} 19th Century Socio-religious Reform Movement

{4) [mpact of Missionaries

o g 4 FE d 8 B-m gl ofed W st e 20
(1) ST = TwE

(2) *0sf fhen

(3) 193 warsd 7 wnfaw-wiifs gur aniem

(@) T %1 e

The criteria to select Educationally Backward Biocks (EBBs) in Kasturba
Gandhi Balika Vidyalaya Yojana is

(1} Blocks have lower female literacy than national average fomale Heracy
(2} Economically poor Blocks

{3) Blocks have more gender gap in literacy than national gender gap
(4] Both (1) and (3)

;ﬁwﬁmaﬁmm@mmmmﬁﬁﬁm%mwmw
7 :

fllmﬁﬁmﬁwﬁmaﬂmaﬁmmmﬂmérﬁw
(2) omidfw gl @ e safs
|3}mﬁ@—gwmmﬂmam,mmﬁm$

(@) (1) @) 2N -

11
(P.TO)
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30. According to social reproduction theory, elite class of the society
(1] reproduce itself with the help of education syster
(2} doesn’t reproduce itself with the help of education system
(3} social reproduction is not pessible
(4) reproduce itself with the help of military
i e g & e g e ol
(1) e oqawe $f ggmar & AT [AEATGT FET 2
(2) Toen sudedt B GEHA § 9N qFecqred T w2
(3) TS G w9 A8 R
(4) T Y GEEA B A [eCHCA F@
31. Which one of the following is an example of hidden curriculum?
(1] Subject specific and grade specific contents to be taught in classroom
(2) Admission procedure
(3] Sex-segregated seating arrangement in classroom
(4) Examinaton procedure
fr f ® FR-T Y TU TreEsE WS &Y
(1) wgr ¥ FeET A TR oAt
(2) T s
lgjmﬁaﬁﬁ“ﬁﬁﬁw'wmﬁm
(4) e T

12
149)
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33.

34.

35.
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When a formerly westernized or modernized group discards many of the
cultural symbols of modemization and reverts to traditional Sanskritic symbols
and beliefs, this process is cailed

(1) Sanskritization (2) De-sanskritization

(3] Re-sanskritization (4) Re-modernization

va @ #  emfg/deeiye e anfe oA Wt AERRe S,
el W S aMe W Se, R @ s @, d 39 S #@

(1) TERER (2) w-FFdEm (3 [ESAEO  (4) TR
Education became a subject of concurrent list in the year of

foren awed! gt & Ty fg 9@ s?

1) 1976 (2} 1955 (3) 1989 (4) 197
Who has authored pathbreaking book, The Second Sex?

(1} Gerda Lerner (2} Zillah Elsenstein

|3) Simone de Beauvoir (4) Bell Hooks

eyl fram 7 d9ve #@99 free foredt 27

(1} et & (2) forem sl

(3) e 7 sRam (4) 3 g

The process in which physical elements of culture change fast in comparison (o
immaterial culture, is called

(iJ sociabzation | (2)_ acculturation

4 c
(3) cultural lag 4 cultur, Yiffusion

13

(P.T.0)
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36.

37,

38.

49)

ﬁam’ﬁﬁﬁﬁ@%ma@%ﬁwﬁﬁﬁﬁﬁm%,ﬁﬁﬁ%
(1} =it (2] Hepfy-wam

(3) =R e (4) TrEpRE TEw

Which one of the following statements is true about persenal laws in india?
(1} Only Muslim community has personal laws.

(2] Hindu comnmunity does not has personal laws.

(3} Tribal communities don’t have personal laws.

14} In India all communitics have some or other forms of personal laws.
AT A % wt A B § A F-m o T 22

() Fa qfEw aya & um uRerd F6F 8

2) &< BCM & U@ wafwra s e §)

(3) S wgErE & S F A

{4y mtaﬁanwmﬁﬂgaﬁ%mwmmm%mﬁﬁrmw?i

India ralilied UN Convention on The Rights of the Child (UNCRC] in the year of
Y 3 A YRl YW T Ao W R ad e frare
(1) 1995 (2] 1990 (3) 1992 (4] 1939

Beeording to Census of India, 2011, what is the child (0-6 years) sex ratin?

P fté, 2011 % igEn fiy fmgma (0-6 =) w0 27
(1) 910 : 1000 (2 os- - =¥ W) 919 : 1000 (4) 927 : 1000

14
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Which one of the following relation types is predominantly found in secondary-
groups?

(1) Informal relation (2] Personai relation

(3] Face to face relation (4) Formél reiation

fodms wqg 4 759 ¥ 9 TRy @ G & F9-m wHn g W 27
(1) ¥=EmE vy (2) =afema avery

(3) M-\ FT Y (4) st gmey

Which one of the following statements is not true about pest-modern society?
(1] It believes that knowledge is universal.

[2) Knowledge is contextual.

(3) Knowledge is socially constructed.

(4] It believes in multiple social realities.

IR YR T % ey § P R Se-w s arme 27

(1) 98 TR 5 & fam @ 2

(2) A a=ed § @1 g

(3) ¥4 amifow w9 & ffifg 2

(4) ¥ T FfrE g § favaw @ 2

‘Samavartana’ is related to

(1} Vedic Education (2] Buddhist Educatjon

(3} Muslim Education (4) British Education

15
(P10
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wHERa e w27
(1) e R (2) dtg e (3) g frar (4) fofewm fmen
42. The meaning of Pabbaija Ceremony is
(1] admission to Gurukuls (2} thread ceremony
(3] ceremony to perform Yajna {4) admission to Buddhist Monasiery
YES FEER H wn g 37
(1) T&FE H waW
(2} ITHE TN
(3) 37 wifds @ & foq fomm 9 AT FEER
(4} =igHa H YdT

43. In Muslim Education System, ‘Bismillah Khani’ ceremony was performed at
which age?

(1) 4 years 4 months 4 days (2} 5 years & months 5 days

(3) 6 years 6 months 6 days (4) 8 years & months 8 days
sfeem fren woret § “faforgre @R wew few s A s i o
(1) 4 7% 4 "w A T @ 59 5 9% S A

3 67 6 ME 6 i (4 8 74 8 WE 8 fA

a4. During Muslim period ‘Faazil’ degree was awarded to the students of

(1) Litcrature (2} Religious Studies

(3] Logic and Philosophy 14) Politics

16
49)
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qfem foen s/ & ‘wit’ & anfa Bre fawg & fenifal ® & e A7
(1) wie (2) e
(3) THUTS TR SRS (4) TR

45. Duration of Basic Education was

(1} 8 years (2) 7 vears (3) 10 years (4} 4 vears
afgs e $ o@y e 97
(1) 8 % (2) 7 =4 (3) 10 =d (4) 4 =9

46, Maulana Mohammad Ali established Jamia Millia Islamia University

(1} Agra (2) Lucknow (3} Aligarh (4} Delhi
e geeig o 3 Wit frfern s Rivafaem oo fee o g 7
(1) o 2) &S (3) orefiTe (4) Ted

47, When was Wood’s Despatch released?
q€ YV FE AT UF?

(1) 1813 (2) 1854 (3) 1835 (4) 1839

48, Which Committee first defined the term wastage and stagnation?
(1) Wood’s Despatch (2) Hartog Committee

(3) Gokhale's Resolution (4) Sargent Commission

17
(49) 10,
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e wfifa 3 wdway oo o sE0es #) ofeia e
(1) g8 9o (2) g2 Wl (3) ME YE@E (4) @ AEm

49. What was the medium of instruction in Basic Education?
(1} English (2) Sanskrii
(3} Mother Tongue (4} Urdu

s Bren d R (srem) @ wem F@@oa?

(1) Smsh (2) wHp (3) mrgw G
50. Who was the first Vice-Chancellor of BHU ?

(1) Pt. Madan Mohan Malaviya (2) Sir Sunderial

(3) Dr. Radhakrishnan (4) Dr. B. R. Ambedkar

ol fo fowafaamed & gun gemid A 47

{1} Yo W3 HE3 AT (2) & YEErs

(3) Bfe TYTFWI (4) gl o ame mEH

51. Which Article of Indian Constitution is related to universalization of elementary
education?

(1) Article 45 (2) Article 16 (3) Article 47 (4) Article 17
e R @ AA-E sy fren & e & At 37
(1) seae 45 (@) HITT 16 (3) IR 47 (4) =7 17

9 18



52.

53.

54.
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Establishment of rural universities was recommended by
(I} Mudaliar Commission (2) Kothari Commission
(3] Radhakrishnan Commission (4} Sadler Commission
i el e W ogEE e g fem mnoap?

(1) Farfmr T (2) ¥ smahT

(3] THTEWIN M (4) ¥R @M
Which is not a deemed university?

(1] Vanasthali Vidyapeeth (2} Gurukul Kangri
(3} Gujarat Vidyapeeth (4) Vishwabharati
ﬁqﬁ%ﬁ?%miﬁ%}ﬁ‘ﬁﬁmﬁﬂ?ﬁ%?

(1) FTewet faemitg (2) ToFw HT

(3t Twva fermmdis (4) v

What is the title of the report of National Education Commission?
il) Education and Natinn:ﬂ Development

12} Education and National Integration

[3) Education and National Empowerment

(4) Education and Nationa] Modernization

T T AR F R W e STy

(1) i @ ot wfy (2) Rl @& iy mry

(3) fren @& T Ruet 0 . gl

19
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55.

56.

(49)

Generally the most effective approach to dealing with the child’s aggressive
behaviour is

(1} to channelize his/her aggression into legitimate areas of competition

[2) to reward him/her for friendly behaviour and to 1gnore his/her aggressive
behaviour

(3] w gve him/her due punishments, when he/she shows aggressive
tendencies

(4) to insist that hefshe apologies for is/her undesirable behaviour
m:mﬂamwﬁﬁuﬁ%ﬁmaﬁ&muﬂmﬁmw%?
gl}wﬁwﬁwmﬁﬁﬁmm
{-zaﬁmm%mﬁgaﬁamrammwwﬁ@mm
(slwasmﬁmﬁ%wmhﬁmsmwaﬁﬁﬁéaém
!%svmﬁwsa%rmﬁaﬁmmmﬁﬂw%mmmaﬁ

Classroom discipline should be oriented towards the promotion of
(1) social conformity (2) self-direction

(3) personal and social adjustment (4} acceptable classroom behaviour

mm@mmmﬁuﬁ@ﬂﬁﬁmaﬁmaﬁw

(1) i G (2) W-Fen
{3]%@"@%% (4) wwd F TN

20
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57. Punishment is a

(1) negative reinforcer (2) positive reinforcer
(3) not a reinforcer at all {4) None of the above
@

(1) TFNeah TaF & (2) HFEOEF Toelh o
(3) Fur ot yaew TE 2 (4) 350 & ® W Td

58. External programmed instruction is also known as
(1) linear programmed instruction
(2] internal programmed instruction
(3] interpretive programmed instruction
(4) Crowderian programmed instruction
s SR sERE @ Prefefige s § off s amer R
(1) tE e SEEvE (2) TG TATH 2T
(3) FATTRITF WA HFCIH (4) BISRTA SIUTHA IR

59, What does MQOC stand for?
MOOC #1 qofey 7 87
(1} Massive Open Online Course
(2} Meta Operative Objective Communicator
(3) Mega Operational Online Course
(4) Multiple Operator Open Communication

(49) 21
(P.T.0)
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60. Read thc following piece of classroom communication and choose the name of
the skill being used by the teacher :

Teacher : Wha is the father of the Nation? (Teacher pauses for a while)
Pupil | Mahatma Gandhi.

Teacher : Who called him the ‘ Mahatma' for the first time? Children think
over and answer carefully.

Which is the skill being used here?

(1) Skill of probing questions
{2} Skill of silence and nonverbal cues
(3] Skill of introducing a topic
(4) Skil! of reinforcement
% TR & Frafafga oW @ v st e g0 wafE qo ygw wom ® AW
qAW

s ug & frer #1722 (e v 3 F fow w= o 2)

&1 : BHCIRIDI

AEAWF ;3 UEEl A HRTCAT R R U17 91 HIR | TN # 9s 0n o|

W Fe R
(1) Fros §E (2) A w EeRE HHA I
() wErE FE (4) TAEH HiTE

61. What is the usc of media either sequentially or simultaneously in a single
communication called?

(1) Computer Assisted Instruction  {2) Multimedia Instruction
(3} Technology Aided instruction (4} Web Aided Instruction

22
(49
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Thel @ § fifen § awle v ool W S R wed 27

(1) SR T IR (2) wgtfem srgaam
(3) PR SERR-ITE SR (4) 99 HEAQI-WTH ST

62. What is ICT ?
(1) Information Combined with Technology
(2} Information and Computer Technology
(3] Information and Communication Technology

(4} Integration of Communication Teaching

Fr§otflodle wn 37
(1) oo ofofem Tt (2) G591 5% Frg qEAeh
{3) g0 o7 anw g (4) a9 i1y wEEm

63. Educational Technaclogy helps learners to become

(1) aware, appreciative, equipped  (2) honest, wise, aware

(3] effective, honest, wise [4) creative, wise, honest

ﬁﬁﬂﬁﬁrﬁﬁmﬂﬁﬁwaﬁﬁw%?

(1) ST, o, gafm (2) TR, T, ST

(3) yoell, R, Fheww (4) TEE. G, damen
{49} 23
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64. How Educational Technology is integrated in the teaching learming process?
(1] Use computer games for teaching
(2) Use social media like facebook
(3] Use PowerPoint for teaching

(4) Reinforce, supplement and extend skills

Hire deifr) frem sfrm e § 36 whiFd AT Y
(1) Torem ¥ foq s Ho &1 @ R
(2) bEgen FE) ww Hifsn T T W
(3) forer % v W Wi F I B
{41&%&1?1‘?3%31&?13, A 7 fom
65. What is the main objective of Educational Technology II ?
(1) Orient teachers to use technology in teaching and learning
{2} Facilitate the use of technology teaching and learning
{3) Integrate technology into teaching and learning
(4) Evaluate the use of technology in teaching and learning
A SrfE ffm & gE s W R?
) gl S s s 8 AT F I IR D o TG F
{z}ﬁmﬁﬁﬁwﬁmmﬁﬂﬁﬂﬁzﬂﬁm%ﬁﬁqﬁmmm
(3) T e WhRaT & StnfeR ) G F
) ﬁimﬁwﬁmﬁm&mmmm

(49) 24



66.

(49)

i7P/246/26 Set No. 1

A teacher regularly gives students brief quizzes of three to five questions
covering material taught in the current or preceding lesson. Which one of the
following is likely to be the primary benefit of this practice?

{1) Helping improve instruction through ongoing feedback on teaching
effectiveness

(2) Minimizing the amount of re-teaching required for students to master
curricular content

(3] Ensuring that the teacher has adequate information to assign stdents a
fair grade

(4] Enhancing students’ engagement in the learning process and recognition of
key learning goals

w figs fufim w7 @ ol # gdwm @1 @ad! 98 § weg T el | e @
gl o € gig gEl f GiEm Tl ¢l #1319 g™ & wrafis o g4 @t
gvE faefafes O @ -8 27

(1) forero oreefierar o we @ wfafen & wem @ fhan W Jem o § meg w

(2) v oy vzl ® wE & Ry ghtfe w9 % R gfgm f oo #
g F

(3) ¢ ghfves &0 f Rrrs go ont & Rooy 12 Ruifd 30 %t s
I waiH e @

(@4} st @ S R S A we e o Hed % Ay aw 6 gean

Al

(P.TO)



17P/246/26 Set No. 1

67. Which one of the following examples best illustrates effective feedback?

68.

(49)

(1} “ Your characters are weak.”
[2) *Nice try, but your story needs a lot of improvement.”

(3} “Your story would be even more wonderful if you describe your characters
in more detail.”

{4) “Review the writing guidelines | gave you at the beginning of the semester.”

foet # & FR-m Soem weh w9 # e yfalear fogm 27

(1) "o e e §

(2) “oremn s @, AfF AR FwHl § agn gAR A TR 217

(3) “aRe am e um A o fm faem @ affr W@ E, @ et #EEl eiR
ft afean ety

(4) St dem Rm-Fwi # emen dnw f yeema A fig 2 s wia w107

A tenth-grade Hislory teacher ts introducing a long-term project with several
components. Students will be required to conduct rescarch and interviews on &
self-selected tapie, write a report, and make an oral presentation. At this point
in nstruction, the teacher can best promote all students’ ability to achieve the
goals of the project by using which one of the following strategics?

(1} Assiguing students partners to provide support throughout the project and
scheduling regular times for the partners to meet

(2) Reassuring students that they possess all of the skills and abilities needed
to complete the project tasks

(3} Orgamzing project tasks in a step-by-step sequence and providing students
with directions and reminders for completing each step

(4) Explaining to students how the objectives of the project fit into a larger
instructional plan

26
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= ol w9 ¥ shew fas 3 o sgoErh ddwi ofee ge A Rl e

F wE-mta W agEeE AR waen W e Rl frew dfes sl A

F i fom ) o vER ¥ agew @ fige Fefafes gfed § @ e gRe @

IEM F& qfEeT ARl #® TH P % o i e f g S deR w

B SgEl 3w R 7

(1) wfEemel & W wEm v w1 & foe el & wewl | fefm W T
R % fou fafim s faifa son

(2) O T REm T F T g@ @ EwE oW w0 % R smewr
el FHzet i auan @

(3) O-FT-T FTHA H TRAIT FE H FRNA F AN T T F OO
F fou féi o sgel # @ ® wR F

(4) BT H U8 wugr B W wRES ¥ R A vl fiew F a9 § awt
fFn w1 w=a #

69. If majority of students in your class are weak, you ehould
(a) not care about the intelligent students

(b} keep your speed of teaching fast so that students comprehension leve
may increase

(c) keep your teaching slow

{d) keep your teaching slow along with some extra guidance to bright
pupils
arrange the following teaching processes in order .

(1) Relating the present knowledge with the previgus knowledge
{ii} Evaluation

{iii} Re-teaching
(iv)] Formulating objectives
(v} Presentation of teaching aids
(L) (i), (@), (i), (iv}, {v) (@) (), @, ), (i), (v
[3) (v), Gv), (i), ti), 30 ) ), ), ), i), iy
(49) 7 P.T.0,)
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a2 oy Fen # srfeehiw om wEen €, @ sow =i
(%) gfgam o F o & wEE 4w
(@) v & 1 FH o9 W@ A T = dEET T 98 O
@ et fgm iy 7 ofton @
(9) a3 few w1 ooy e @ o9 el @t afaftd wrigea 4
T i ¥ Frafafan o & w0 @ Saftn ®o
fj) 9 T A AN FE H AN
il Hearea
(i) e
(iv) Sewal = et
{v} foegm Hﬂﬁ"ﬁ $ H'ﬁﬁl
(1) (i), (i), (i, (v, () (2) (i), (i), (i), (v}, (V)

(3] (v), {iv), tig, (i), (1) (4) {iv), {i), (v), (ii), (iii)

T0. Maxanum participatian of students is possible in teaching through

(1) lecture (2) discussion (3] textbook (4) audio-visual
ﬁ%ﬁmﬁﬁnyﬂﬁmﬁmmmqﬂaﬁwﬁm%?
(1) AR (2) afeETE (3) TTEETEE (@) =357 amh

71. For Leptokurtic curve
(1 1,5.){3&114:1 riai (2) By =3, 7 =0

(3) By >3 and rz » 0 (4] None of these

28
49)
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(49)

17P/246/26 Set No. 1

AQigiE 9% & fa
(1) B, <3 M r>0 (2) B, =3,7=0
(3) >3 AN 1, >0 (4) = § =g T
Probability of containing 53 Sund_a}'s In a leap year is
1 o2 3 __
(1) 5 (2) = (3) = (4) None of these

w s § 5o Maw 63w wifiwa 27

(1) = 2) % 3) % @ TR A B @

Two dies are thrown. The probability that difference of numbers obtained is zero
will be

I 1 2
(1) & (2) T3 (3) o1 (4) None of these
o TR % T o Wi demei & o g 9F ) w0 wmivwm g 7

] o A 2 -\
(1) 5 (2) T (3) 51 (4) ¥ 1 3

Time reversal test and factor reversal test are satisfied by

{1} Laspeyres’ index formula (2) Paasche’s index formula
(3) Fisher's index formula (4) None of these
T AV O A Issny gl ek BR gn e wm 4
(1) e F1 qIE I @) T F G g
(3) R w1 guei® @ [4}@3@%;@

29
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73.

76.

T,

T8.

79.

(49)

The covariance of two independent variates is equai fo
(1} 0 (2} 1 (3] -1 (4) None of these

3 WA S F - R e g

(1 0 () 1 (3) -1 (@) ¥ ¥ F38
The mean of binomial distribution is

(1) npg (2] np’yg (3) np (4) None of these
fovdig fomw &1 g 2

(1) npg 2) np’q @) np (4) T | F13 T

I mean ol Poisson distnbunon is A, then variance will be

(1) A 2y Jn (3} 22 (4) None of these

ofe wirE fow & e R, 7@ v g
(1) % (2} VA (3} »’ (4) ¥ A F T

First moment about mean is

(1} 0 2) 1 [3) -1 {4) None of these

nes % e YW i @
) o (2) | (3) -1 (@) ¥ 8 =%

The value of correlation coefficient v is

(1) less than 0 {2} greater than 1

@) -1<vsl (4) None of these

30
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ey TN v % HH BT #
(1) 0 & #A (2) 1 & wawr 3) -1<vsl 4) ¥ @ w7

80. If T is unbiased estimator of 8, then aT + b is unbiased estimator of

{1} ad (2} ab + b (3) b (4] None of these

IR T, 0 F Fwg s ¢, T aT + b Foww Fover anwes 37

(1) at (2) a6 +b (3) b (4) ¥R & Fd T
81, [ T is consistent estimator 8, then what-is 8 ?

(1} Constant (2) Parameter

[3) Sample constant (4} None of these

alE T EE A 0 R, G99 T B7
(1) femrs (2) wrEE (3) wiedl fomis (4) wt @+

82. Which one of the following is observed in completely randomised design?
(1) Randomization and local control
(2) Replication and local control
(3] Randomization and replication

(4] None of these
B % 4 a7 gl afees whien & swwifea e o 37

(1) awef=zwm g s (2) Sfa aon vy B
(3) T Al o ‘Hmwﬂqmﬂﬁf

31
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83. Whether test is one-sided or two-sided depends on

{1} simple hypothesis (2) alternative hypothesis
(3) null hypothesis (4] None of these

i el v s 2, we fpw w fed s 27

(1) #We iEeTT (2) Ferfeas PR

(3) AT FHHTE (4) ¥ F FIg T

84. Power of the test is related to

(1Y Type | error (2} Type Il error

(3) Both Type I and II error (4} None of these
wite # wir frew w27

(1) vy y&w & IR (2) fed g Ft gfe

(3) 99 @ A eE R A gl (4) i A B

85. A test T which is al least as poweriul as any other test of same size 1s called

(1) most powerful test (2) unifermly most powerful test
{3 best test (4] None of these
% g T, Fr--an T R R 5 TEW F A Sl 2, W
;ﬁi =T 2
(1) Tt FHERh wam (2) TEENA T G W
(3} I T vt X o Y R
32
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17P/246/26 Set No. |

B6. Level of significance is probability of

(1) not committing error (2) Type Il error
{3) Type [ error (4) None of these
ardeal H1 e frmsdh wilea 27
(1) IR 7 o () i v @ 1R
(3) wam wER Ht R 4) FH 8 1§ A

87. Degree of freedom for chi-square test in case of contingency table uxu is
(1) 16 2) 9 (3) 15 (4) None of these
ST Al uxu F AW # E-wd whem ¥ o wmes s f g @
(1) 16 (2) 9 (3) 15 (4) = ® = T

88. The iest of goodness of fit of an assumed population is
{1} testing a hypothesis about its mean

(2) testing a hypothesis about its variance

[3) to make a comparison between observed and expected number of
observation

{4) None of these

el ST SFREn W I SR e 2

(1) wfeeqm #1 0% Ay & R & ghey

(2) T I T F 4R wiey

(3) sEeiiFd qu FEAE % ol den F = g9 we
@ w8 FE T

(P10
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89. Source traits are
{1} the observable clusters of all behaviour
(2] not recognizable part of personality
[3) the underlying basic factors of an individual’s personality
(4) the only traits which explains individual’s personality
CIGAEHLE
(1) B TR *1 TR U0 §
(2) waitEed o AFER fan &
(3) =l & waftd & FUTY AU FF
(4) ATk & Afthca F1 TR FF T 35 F0F 8

0. What is dyslexia?

1) A reading disorder (2L A writing disorder

(3} An eating disorder (4} A mathematical disorder
feqeifdam @ 27

(1) ar=A =i (2) ¥ iy

(3) @ w1 Al (4) T =t

91. Who defined personality as “that which permits a prediction of what a person
will do in given situation”?

(1} Gordon Allport (2) R. B. Cattell

(3) H. J. Eysenek (4) Albert Bandura

4
(49) o
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frm =ftees =t 28 uftmm & & wafre @ 2 & CaRe F R § 0 oRfel g
=Rk F TN FEeht wRrEmft W owmEr dar 277

(1) MEF AN (2) Ao o e
(3) Te So Ed® (4) S q=FA

Which one of the following schools rejects the investigation of internal mental
processes?

(1} Psychoanalytic {2) Humanistic
3] Behavioristic (4) Cognitivism

ﬁmﬁﬁﬁqmmmﬁmﬁﬁmaﬁmm%?
(1) wfrermd () aRaaEd (3) FIERaE (4} TaETd

Which one of the following has been attributed to divine intervention?

(1] Intelligence  {2) Interest (3} Achievement (4) Creativitv

ﬁqﬁﬁﬁﬁ‘éﬁﬁﬂmﬂ%ﬁmw%?
(1) 9fz (2) & (3) Iudfay (4) GEATENEA

The adjustment mechanismsfin Psychology are so called because

{1} they create favourable conditions for adjusting an individual to a new
situation

(2) they suggest methods of locating the situations to which 4 person could be
easily adjusted

(3} they protect a person's self-esteem a

: Bainst frustration and anxi
suggesting alternative methadg Xlety by

(4} they are fiexible and could be casily adjusted tp 4

persons involved 1y situation Irrespective of

35
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95.

(49)

T yoTel! F R § gw am g o @ R
ql]éﬁﬁﬁqwﬁﬁiﬁﬁaﬁ#m%%ﬁﬂwmﬁmwmﬁ

{zjémﬁﬁaflmﬁﬁf@lﬁ?ﬁﬁWWﬁ%Wwwﬁémﬁ
ol § Ao @

@) F = ¥ wRER @ Fve au R @ W w0 A e [RE g
zht 2

{4}ﬁﬂﬁ?ﬁﬁ?ﬂ§ﬁm%ﬁtﬂqﬁ®%ﬁﬂﬁmﬁﬁnﬁn%mmﬁﬂﬁm
A @ g # g 8

For a stress situalion to be dealt with by a defense mechanism which must be
(1} conscious

(2} unconscious

(3] unconscious but may be brought by constant fear or anxiety

{4) conscious oOf UNcoenscious
ﬁaﬁ%ﬂmﬁﬁq&@rﬁﬁgmwﬁ%aﬂﬁ@%mﬁ,ﬁmﬂﬁﬁ

(1) =

(2) I

(3) m%mmﬁtmwﬁnﬁm%mm‘@aﬂ

(4) T S AT

36
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A projective technigue is a method of collecting data about an individual’s
personality which uses

(1) a short structured interview schedule
(2] direct ohservations of individual’s behaviour

(3] unstructured stimulus situations such as ink/blot, photographs, etc., to
elicit individual’s reactions

{4) verbal statements

uF Y& wlly ok =fm & =fte ¥ wefa oiwel @i wuisa & f a8 faly 2
£l

(1) T oY HiEAEg W SgHE! H I S 2
(2) =ufF & =EER & T WaOeT F I0G wal #

(3) @& oEtENE Seve gRfukeEl, W@ Wil wen, fEl oenfs, w1 =fE A
Tafrmet # Hw FH ¥ I F 2

(4) wifgk HyAl w1 FwET R

Who is associated with ‘genetic epistemology'?
{1) Sigmund Freud [2) Jean Piaget
[3) Evan Pavlov (4) B. F. Skinner

I FE ¥ &1 aelEg 29

() fowe wEs (2) IR S (3) ¥M Yoo (4) He wro fomy

a7
(P.T.0,)
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98.

99,

100,

(49)

What 15 Id?

(1) Part of the psyche that controls impulses

(2) Part of the psyche that reduces anxiety

(3) A description of innate instinclual needs

(4} Part of the psyche that contrels our morality
58 w1 B7

(1) I8 ¥ 98 9T W Ey S HalE g

(2) uFE 1 Fg 9m W R # Fabe s g

(3} FREE Y NAREs AMTEAS 1 avd

(4) wE #1 a8 faear st e @ el w3

Which 1s true for operant conditioning?
frmmm weem A Foae R0

(1) SR [2) RS (3) SOR (4) OSR

The phenomenon of dog phobia can best be explained by the
(1} behavioural model (2) psychodynamic model
(3) humanistic model {4} medical model
F4 @ w1 @ A A st AT B GHETE W @Al g
11]6413‘5'@13#;!%@% (2) wifRAwrEE e 8

{g]m:aa]ﬁ'lﬂ’iﬁlﬁqﬁ (4) Tadrada gioey |
38
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101. Which one of the following is- an example of repression?
(1) Stopping vourself from behaving the way you want to
(2) Suppressing bad memories or currént thoughts that cause anxiety
(3) Suppressing your thoughts
(4} Stopping others from beh&nlr'mg inappropriately
s 3 & o | - 3gRm 2

(1) 3 A = 59 GH ¥ AT SIGER FH Aed § IWE e

(2) ad9R BaR o1 wow Wil st o d famn sow =l 2 I e
(3) w9 fe=md & g=mn

(4) g0 A swifed wamn & A G

102. The characteristics of a mentally healthy person is
(1) aware about his self and have some respect for others

(2) that he can’t understand his own lmitation and can't tolerate the
limitations of others

{3) that he can’t understand the cause of behaviour

{4} that he can’t understand the basic nceds which motivate behaviour
HAEE w9 R e st 6 e § oo

(1) o & & 3fq e g R Tl F 9l 39 ome @ @
(Elaamﬁﬁrmaﬁa%ww%aﬂn?@ﬁﬁzﬁmaﬁﬁaﬁﬁmm%
(3) T W % FON B T G T

(4) T R ATl ) 90wy

49) 39
(PT.0,
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103. I a child is rewarded for his successful remembering of 15 words, what type of
schedule is being used?

(1} Fixed ratio (2) Variable ratio

(3] Fixed interval (4} Variable interval

ofg feeh ==t # 15 e W AEEWNEF WG KO W qoRpd A w8,
fr wom # argEe W oI B W T Rl

(1) P amqua (2) wfeR smqum () Rftad saoe (4) e e

104. A student recognizes his class teacher’s voice. Over the months, he has leamed
o tell the difference between the voice of his class teacher and the other
tearhers. Which nne of the following processes is at work here?

(1) Stimulus discrimination (2) Stimulus generalization
(3) Response generalization (4) Negative reinforcement

UF O T FEIENE & AN H WIEA E FO A A6, 9 WA FuH F
mmnﬁmﬁa:wma%mﬁmm#@ﬁm%iﬂﬁﬂﬁﬂﬂ@_

#a-dl sfEm w1 w0 @ 8 e

(1} e Tt (2) JeTe WHAH
(3) whifsrar amrfiem (4) TOTHE YA
40
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Section—II

HIg-—~I1

(i) (English Language Comprehension)

Note : Attempt all the 16 questions in this Section, if you do not opt for Section—II on

Hindi Language Comprehension.

Four alternatives are given as possible answers to each question. Give the correct
choice as an answer.

Directions : (Question No, 105-111) Read the following passage carefully given below

[49)

and answer the questions based on it. Do not go beyond the passage to
answer the questions. Choose the most suitable option,

The pioneers of the teaching of science imagined theat ite introduction into
education would remove the conventionality, artificiality and backward-
lookingness which were characteristic of classical studies, but they werc
gravely disappointed. So, too, in their time had the humanists thought that the
study of the classical authors in the original would banish at once the duli
pedantry and superstition of medigeval schalasticism. The professional
schoolmaster was a match for both of them, and has almost managed to make
the understanding of chemical reactions as dull and as dogmatic an affair as
the reading of Virgil's Aeneid. The chief claim for the use of science in education
1s that it teaches a child something about the actual universe in which he is
living, in making him acquainted with the results of scientific discovery, and at
the same time teaches him how to think logically and inductively by _s.tudj,-'jng
scientific method. A certain limited success has been reached in the first of
these aims, but practically none at all in the second. Those privileged members
of the community who have been through a secondary or public schooi
education may be expected to know something about the frfemfntal}r Physics
and Chemistry of a hundred years ago, but they probably know hardly ﬁc-re
than any bright boy can pick up from an interesi in wi

| : reless or scientific
hobbies out of school hours. As to the learning of scientific method the whole
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105.

106.

107.

149)

thing is palpably a farce. Actually, for the convenience of teachers and the
requirements of the examination system, it is necessary that the pupiis not only
do not learn scientific method but learn precisely the reverse, that is, to believe
exactly what they are told and to reproduce it when asked, whether 1t seems
nonsense to them or not. The way in which educated people respond to such
quackeries as spiritualism or astrology, not to say more dangerous ones such as
racial theories or currency myths, shows that fifty years of education in the
method of science in Britain or Germany has produced no visiblic effect
whatever. The only way of learning the method of science is the long and bitter
way of personal experience, and, until the educational or social systems are
altered to make this possible, the best we can expect is the production of a
minority of people who are able to acquire some of the technigues of science and
a still smaller minority who are able to use and develop them.

The author implics that the ‘professional schoolmaster’ (line 6-7] has
(11 no interest in teaching science

(2) thwarted attempts to enliven education
(3] aided true learning

(4} supported the humanists

The author’s attitude to sccondary and public school education in the science 1s

(1] amhivalent (2) neutral (3) supportive [4) contemptuous

The word ‘palpably’ {line 20) most nearly means

(1) empirically (2) obviously (3} tentatively {4) markedly

42



108.

109.

110,

111.

(49)

17P/246/26 Set No. 1

The author blames all of the following for the failure to impart scientific method
through the education system, except

(1} poor teaching
(2) examination methods
(3] lack of direct experience

(4) lack of interest on the part of students
If the author were to study current education in science to see how things have

changed since he wrote the piece, he would probably be most interested mn the
answer to which of the following questions?

{1) Do students know more about the world about them?
(2] Do students spend more time in laboratories?

(3] Can students apply their knowledge logicaliy?

(4) Have textbooks improved?

All of the foilowing can be inferred from the text, except

(1) at the time of writing, not all children received a secondary school education
{2) the author finds chemical reactions interesting

(3) the author believes that many teachers are authoritarian

{4) it is relatively easy to learn scientific method

Astrology (line 25) is mentioned as an example of
(1) a science that needs to be better understood
(2] a belief which no educated people hold

(3] something unsupportable to those who have absorbeq th
! £
science Rt

(4} the gravest danger to sooiety
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Directions : (Question No. 112 and 113) Cheose the meaning that is most removed
from the given word or least close to it.

112. Relieve

(1} Free (2) Relief (3} Give comfort [4) Repulse
113. Applause

t1) Criticism [2) Cheering (3] Appreciation (4) Encore

Directions : [(Question No. 114-116) Find out the correct sentence.

114. (1) The group of students are complaining about grades,
(2} The group of students is complaining about grades.
(3) The group of students are always complaining about grades.

(4) The group of studenis were complaining about grades.
115. (1) A recipe with more than six ingredients are too complicated.
{2) A rocipe with more than six ingredients arc always too complicated.
(3) A recipe with more than six mngredients are considered too complicated.

[4) A recipe with more than six ingredients is too complicated.

116. (1) The facts in that complex case is questionable.
(2) The facts in that complex case are questionable.
(3) The facts in that complex casc is always guestionable.

(4} The facts in that complex case are questionable.
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Directions : ({Question No. 117-120) Fill in the blanks with the most suitable oplion

117.

118.

119.

120.

(49)

given below.
Tea and tomato soup —— the main diet of the prison inmates.
{1} request (2) constitute (3} received (4) menu

Tomorrow I will call around and

about the day-care facilities here.

(1) request (2) apply (3} detail (4} inquire

The doctor
the patient.

the test results carefully before giving his final diagnosis to

(1) gave (2) surveyed (3) received (4) talked
Grandma 1s so old and —— that she has trouble getting in and out of bed.
{1) good (2} poocious (3) [rail (4) swut
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